int nr =0, ## RW: (nr == 0 or nw==20) and nw <=1
nw = O;
seme = 1, # controls entry to critical sections
r =0, # used to del ay readers
w = 0; # used to delay witers
# at all times 0 <= (e+r+w) <=1
int dr = 0O, # nunber of del ayed readers
dw = 0; # nunber of delayed witers

process Reader[i =1to M {
while (true) {
# CAwait (nw == 0) nr = nr+l1; O

P(e);

if (nw>0) { dr = dr+1; V(e); P(r); }
nr = nr+l;

S GNAL; # see text for details

read the database;
# [hr = nr-1; 0
P(e);
nr = nr-1;
SIGNAL;
}
}
process Witer[j =1to N {
while (true) {

# CAwait (nr == 0 and nw == 0) nw = nwl; O
P(e);
if (nr >0 or nw>0) { dw = dwl; V(e); P(w; }
nw = nw+l,;
SIGNAL;

write the database;
# [hw = nw 1; O
P(e);
nw = nw 1;
SGNAL;

Figure 4.12 Outline of readers and writers with passing the baton.
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